ARM® #n

Thumb®-2 54

RiESEF
FXHF
Rm {, <opsh>} W2 LR, ANAEBSERMI <reglist> VLS 5 W IT ) 27 A7 a0, 570 K38 () .
<Operand2> W% % R TERIRIER 2. B AIEHF A AT H T Operand2. <reglist-PC> 1l <reglist>, AREA T PC.
<fields> 152 0% PSR . <reglist+PC> £l <reglist>, L PC,
<PSR> ?}’)SR S FAREFIRAS 7 7748 « CPSR CHT AL FE 3R A %547 4% ) Bk SPSR (IRAT IR AL BB IR A5 %7 77 <flags> nzcvg (ALU ARid PSR[31:27]) i g (SIMD GE #5ic PSR[19:16])
T4
[V AR R A va S RRA R, RO (R R vS KUURRRACH, brid A2z, § i % W% ARM {FREHMEE.
<Rs|sh> A Ay Rs B AN MEBE A . ARSI SR VP +/- B - (+ ATHIK. )
FEGEHR, MERBHEHMI PavER. <iflags> hlbRid. —AEEA as iy £ CPOb. P, Pl .
X,y B i T, B #2547 48 [15:0], T F7sF- 2517 2% [31:16]. <p_mode> i1 2 ) LA IR RRHER
<imm8m> ARM 32 A5, o 8 A 1 A A AR A0 R0 A2 il SPm <p_mode> Fi&E AL FLBI Y SP
Thumb 32 f7 %%, h 8 I ZE AT A AL K, <Tsb> LI BAR A S
AR A 0xXXYXYXYXY. 0x00XYO0XY 5 0xXY00XY00. <width> RO FEAE, <width> + <1sb> A% <=32.
<prefix> S HITIRSHWE {x3¥ WA X, W RsX K Rs PR 16 Ak pke B, RsX 4 Rse
{IAIIBIDAIDB} |z a#ihn. 2 . ZJGm/ 2w . {13 AT 1, IR A1 50 B B AR TR .
1B Fl DA ANATH T Thumb JRZS Fo W ANS, Wik N 1A, {S} WA S, W AR .
<size> B\ SB. H B SH, & UAMMA T RS F45 . PR RS 7. {1} WA T, WA R
SB fil sH AR STR 54 {R} URATAE R, R 45 AT SN, A UK AT
=H § |iC4e8 S E#H e ;]
sk ik ADD{S} Rd, Rn, <Operand2> N Z C V [Rd:=Rn+ Operand2 N
HEHERE ADC{S} Rd, Rn, <Operand2> N Z C V |Rd:=Rn+ Operand2 + #fr N
5 T2 |ADD Rd, Rn, #<imml2> Rd :=Rn +imm12, imm12 {5 [ % 0-4095 T.P
TR () SE |Q{D}ADD Rd, Rm, Rn Rd := SAT(Rm + Rn) Jf: Rd := SAT(Rm + SAT(Rn * 2)) Q
Mk PC AHX ik ADR Rd, <label> Rd := <label>, 7K <label> AHA} T2 52 M H, 1§ SR L N. L
wox Yok SUB{S} Rd, Rn, <Operand2> N Z C V |Rd:=Rn-Operand2 N
T EAT SBC{S} Rd, Rn, <Operand2> N Z C V |Rd:=Rn-Operand2 - NOT (ilf7) N
b T2 |SUB Rd, Rn, #<imml2> Rd :=Rn —imm12, imm12 {35 [ 0-4095 T.P
J 1k RSB{S} Rd, Rn, <Operand2> N Z C V [Rd:=Operand2 - Rn N
HEHERT S i i RSC{S} Rd, Rn, <Operand2> N Z C V |Rd:=Operand2 - Rn - NOT G A
LA (N ) 5E [Q{D}SUB Rd, Rm, Rn Rd := SAT(Rm — Rn) fif% Rd := SAT(Rm — SAT(Rn * 2)) Q
S IR AL, ek . SUBS PC, LR, #<imm8> N Z C V|PC=LR-imm8, CPSR =SPSR C4ifis0) , imm8 LN 0-255.
Frves S SN 6 |<prefix>ADD16 Rd, Rn, Rm Rd[31:16] := Rn[31:16] + Rm[31:16], Rd[15:0] := Rn[15:0] + Rm[15:0] G
L33 oy Sk 6 |<prefix>SUB16 Rd, Rn, Rm Rd[31:16] := Rn[31:16] — Rm[31:16], Rd[15:0] := Rn[15:0] - Rm[15:0] G
ESVIF WIS 6 |<prefix>ADD8 Rd, Rn, Rm Rd[31:24] := Rn[31:24] + Rm[31:24], Rd[23:16] := Rn[23:16] + Rm[23:16], G
Rd[15:8] := Rn[15:8] + Rm[15:8], Rd[7:0] := Rn[7:0] + Rm[7:0]
T R 6 |<prefix>SUB8 Rd, Rn, Rm Rd[31:24] := Rn[31:24] — Rm[31:24], Rd[23:16] := Rn[23:16] - Rm[23:16], G
Rd[15:8] := Rn[15:8] — Rm[15:8], Rd[7:0] := Rn[7:0] — Rm[7:0]
T, L drainik, ik | 6 | <prefix>ASX Rd, Rn, Rm Rd[31:16] := Rn[31:16] + Rm[15:0], Rd[15:0] := Rn[15:0] — Rm([31:16] G
T, I, IRk 6 |<prefix>SAX Rd, Rn, Rm Rd[31:16] := Rn[31:16] — Rm[15:0], Rd[15:0] := Rn[15:0] + Rm[31:16] G
ZEAR AR T 5 KA 6 |USAD8 Rd, Rm, Rs Rd := Abs(Rm([31:24] — Rs[31:24]) + Abs(Rm[23:16] — Rs[23:16])
+ Abs(Rm[15:8] — Rs[15:8]) + Abs(Rm[7:0] — Rs[7:0])
FEA B OSSR, T B 6 |USADA8 Rd, Rm, Rs, Rn Rd := Rn + Abs(Rm[31:24] — Rs[31:24]) + Abs(Rm[23:16] — Rs[23:16])
+ Abs(Rm[15:8] — Rs[15:8]) + Abs(Rm[7:0] — Rs[7:0])
tafn HRSWMT, 4% 6 |SSAT Rd, #<sat>, Rm{, ASR <sh>} Rd := SignedSat((Rm ASR sh), sat). <sat> FITE[E N 1-32, <sh> HTEEN 1-31. | Q. R
HR SR, 2% 6 |SSAT Rd, #<sat>, Rm{, LSL <sh>} Rd := SignedSat((Rm LSL sh), sat). <sat> fI{E K 1-32, <sh> HIEH N 0-31. Q
1SR 6 |SSAT16 Rd, #<sat>, Rm Rd[31:16] := SignedSat(Rm[31:16], sat), Q
Rd[15:0] := SignedSat(Rm[15:0], sat). <sat> (LMK 1-16.
TR ST, 4% 6 |USAT Rd, #<sat>, Rm{, ASR <sh>} Rd := UnsignedSat((Rm ASR sh), sat). <sat> [{{u[H4 0-31, <sh> (UFEHEHR 131, | Q. R
TR ST, A 6 |USAT Rd, #<sat>, Rm{, LSL <sh>} Rd := UnsignedSat((Rm LSL sh), sat). <sat> [{I3E [} 0-31, <sh> fITEHN 0-31. Q
TCAF 5 MR AN 2 7 6 |USAT16 Rd, #<sat>, Rm Rd[31:16] := UnsignedSat(Rm[31:16], sat), Q
Rd[15:0] := UnsignedSat(Rm[15:0], sat). <sat> [N 0-15,




ARM #1 Thumb-2 $£%

RESEF
= § |iCHkwa2 S B BRIE L]
E373 Feik: MUL{S} Rd, Rm, Rs N Z C* Rd := (Rm * Rs)[31:0] 4 Rs iy Rd, W S A[JH-F Thumb-2 1) N. S
It 2 MLA{S} Rd, Rm, Rs, Rn N Z C* Rd := (Rn + (Rm * Rs))[31:0] S
Fel T2 |MLS Rd, Rm, Rs, Rn Rd := (Rn — (Rm * Rs))[31:0]
T 5K UMULL{S} RdLo, RdHi, Rm, Rs N Z C* V* |RdHi,RdLo :=unsigned(Rm * Rs) S
K S8BT 5 T UMLAL{S} RdLo, RdHi, Rm, Rs N Z C#* V* |RdHiRdLo := unsigned(RdHi,RdLo + Rm * Rs) S
TSR, W 6 |UMAAL RdLo, RdHi, Rm, Rs RdHi,RdLo := unsigned(RdHi + RdLo + Rm * Rs)
K34 17 ey SMULL{S} RdLo, RdHi, Rm, Rs N Z C* V#* |RdHiRdLo :=signed(Rm * Rs) S
TR (K2 SMLAL{S} RdLo, RdHi, Rm, Rs N Z C* V* |RdHi,RdLo :=signed(RdHi,RdLo + Rm * Rs) S
16 * 16 7. SE | SMULxy Rd, Rm, Rs Rd := Rm[x] * Rs[y]
3216 fif 5E |SMULWy Rd, Rm, Rs Rd := (Rm * Rs[y])[47:16]
16 * 16 731 2n SE | SMLAxy Rd, Rm, Rs, Rn Rd :=Rn + Rm[x] * Rs[y] Q
32 % 16 A7 3f 2 SE | SMLAWy Rd, Rm, Rs, Rn Rd :=Rn + (Rm * Rs[y])[47:16] Q
KA 16 * 16 L1 FF B0 SE |SMLALxy RdLo, RdHi, Rm, Rs RdHi,RdLo := RdHi,RdLo + Rm[x] * Rs[y]
PR S i), FeRUAI 6 | SMUAD{X} Rd, Rm, Rs Rd := Rm[15:0] * RsX[15:0] + Rm[31:16] * RsX[31:16] Q
I 6 |SMLAD{X} Rd, Rm, Rs, Rn Rd := Rn + Rm[15:0] * RsX[15:0] + Rm[31:16] * RsX[31:16] Q
IF B (KO 6 |SMLALD{X} RdLo, RdHi, Rm, Rs RdHi,RdLo := RdHi,RdLo + Rm[15:0] * RsX[15:0] + Rm[31:16] * RsX[31:16]
P AT TS eid:, TR 6 |SMUSD{X} Rd, Rm, Rs Rd := Rm[15:0] * RsX[15:0] - Rm[31:16] * RsX[31:16] Q
It 2m 6 |SMLSD{X} Rd, Rm, Rs, Rn Rd := Rn + Rm[15:0] * RsX[15:0] - Rm[31:16] * RsX[31:16] Q
JEE N CKEHD 6 |SMLSLD{X} RdLo, RdHi, Rm, Rs RdHi,RdLo := RdHi,RdLo + Rm[15:0] * RsX[15:0] — Rm[31:16] * RsX[31:16]
EEEE R A S S 6 | SMMUL{R} Rd, Rm, Rs Rd := (Rm * Rs)[63:32]
JEEm 6 |SMMLA{R} Rd, Rm, Rs, Rn Rd := Rn + (Rm * Rs)[63:32]
Ik 6 |SMMLS{R} Rd, Rm, Rs, Rn Rd := Rn — (Rm * Rs)[63:32]
WA 40 B 2 XS [MIA Ac, Rm, Rs Ac = Ac + Rm * Rs
by XS |MIAPH Ac, Rm, Rs Ac := Ac + Rm[15:0] * Rs[15:0] + Rm[31:16] * Rs[31:16]
e XS |MIAxy Ac, Rm, Rs Ac = Ac + Rm[x] * Rs[y]
Bk P RM |<op> Rd, Rn, Rm Rd :=Rn/Rm <op> }J SDIV (5 8 DIV CEFF5) T
Bzl ¥ MOV{S} Rd, <Operand2> N Z C Rd := Operand2 ESABAIES N
BiE kB MVN{S} Rd, <Operand2> N Z C Rd := OXFFFFFFFF EOR Operand2 N
3 T T2 |MOVT Rd, #<imml6> Rd[31:16] := imm16, Rd[15:0] A5Z5%Hi, imm16 IEHHK 0-65535
i T2 [MOV Rd, #<imml6> Rd[15:0] := imm16, Rd[31:16] = 0, imm16 J& [ % 0-65535
40 47 BN 40 ZF A XS |MRA RdLo, RdHi, Ac RdLo := Ac[31:0], RdHi := Ac[39:32]
AT 40 7 B XS [MAR Ac, RdLo, RdHi Ac[31:0] := RdLo, Ac[39:32] := RdHi[7:0]
BL ARG ASR{S} Rd, Rm, <Rs|sh> N zZ C Rd := ASR(Rm, Rs|sh) 5 MOV{S} Rd, Rm, ASR <Rs|sh> [ N
Lk iy A LSL{S} Rd, Rm, <Rs|sh> N zZ C Rd := LSL(Rm, Rs|sh) 5 MOV{S} Rd, Rm, LSL <Rs|sh> #[f N
B LSR{S} Rd, Rm, <Rs|sh> N zZ C Rd := LSR(Rm, Rs|sh) 5 MOV{S} Rd, Rm, LSR <Rs|sh> A N
[ A R ROR{S} Rd, Rm, <Rs|sh> N zZ C Rd := ROR(Rm, Rs|sh) 55 MOV{S} Rd, Rm, ROR <Rs|sh> #l[f N
W R AR RRX{S} Rd, Rm N Z C Rd := RRX(Rm) 5 MOV{S} Rd, Rm, RRX
HHASERE 5 |CLZ Rd, Rm Rd :=Rm P12 0 EH
123 B CMP Rn, <Operand2> N Z C V | % Rn-Operand?2 [ CPSR #3ict N
5 ik CMN Rn, <Operand2> N Z C 'V |3 Rn+ Operand2 f{] CPSR #5ict N
B4 PR TST Rn, <Operand2> N Z C %7 Rn AND Operand2 fJ CPSR 471t N
LEERIURES TEQ Rn, <Operand2> N Z C %7 Rn EOR Operand2 ff] CPSR F5ic
5] AND{S} Rd, Rn, <Operand2> N Z C Rd := Rn AND Operand2 N
Sk EOR{S} Rd, Rn, <Operand2> N Z C Rd := Rn EOR Operand2 N
ok ORR{S} Rd, Rn, <Operand2> N Z C Rd := Rn OR Operand2 N
EE[H T2 |ORN{S} Rd, Rn, <Operand2> N 7z C Rd := Rn OR NOT Operand2 T
s % BIC{S} Rd, Rn, <Operand2> N zZ C Rd := Rn AND NOT Operand2 N




ARM #1 Thumb-2 $£%

RiESEF
EY § L RIE ;]
i frlgit % T2 |[BFC Rd, #<1sb>, #<width> Rd[(width+lsb—1):1sb] := 0, Rd F{IHALAL A 540
IVEZERON T2 |BFI Rd, Rn, #<Isb>, #<width> Rd[(width+1sb—1):Isb] := Rn[(width-1):0], Rd FIFABLLA 52 5 )
ﬁ‘ﬂ IR T2 |[SBFX Rd, Rn, #<1sb>, #<width> Rd[(width—1):0] = Rn[(width+lsb—1):Isb], Rd[31:width] = 5] ( Rn[width+Isb—1] )
5 A AR T2 |UBFX Rd, Rn, #<lsb>, #<width> Rd[(width—1):0] = Rn[(width+lsb—1):1sb], Rd[31:width] = & (0)
HE éﬁ/r.\: T+ mE T 6 |PKHBT Rd, Rn, Rm{, LSL #<sh>} Rd[15:0] := Rn[15:0], Rd[31:16] := (Rm LSL sh)[31:16]. sh [{I75 [ % 0-31.
At e + R 6 |PKHTB Rd, Rn, Rm{, ASR #<sh>} Rd[31:16] := Rn[31:16], Rd[15:0] := (Rm ASR sh)[15:0]. sh [{J5E i 1-32.
aFs P 6 |SXTH Rd, Rm{, ROR #<sh>} Rd[31:0] := SignExtend((Rm ROR (8 * sh))[15:0]). sh (KI5t [F 0-3. N
R A 6 |SXTB16 Rd, Rm{, ROR #<sh>} Rd[31:16] := SignExtend((Rm ROR (8 * sh))[23:161),
Rd[15:0] := SignExtend((Rm ROR (8 * sh))[7:0]) sh [fI¥E H 4 0-3.
ESEES 6 |SXTB Rd, Rm{, ROR #<sh>} Rd[31:0] := SignExtend((Rm ROR (8 * sh))[7:0]). sh [{J35 2 0-3. N
EHS PP 6 |UXTH Rd, Rm{, ROR #<sh>} Rd[31:0] := ZeroExtend((Rm ROR (8 * sh))[15:0]). sh (7G4 0-3. N
R RS RS 6 |UXTB16 Rd, Rm{, ROR #<sh>} Rd[31:16] := ZeroExtend((Rm ROR (8 * sh))[23:16]),
Rd[15:0] := ZeroExtend((Rm ROR (8 * sh))[7:0]). sh (K3 0-3.
FHFF 6 |UXTB Rd, Rm{, ROR #<sh>} Rd[31:0] := ZeroExtend((Rm ROR (8 * sh))[7:0]). sh FI3i [ 0-3, N
0SS PFFNF, ik 6 | SXTAH Rd, Rn, Rm{, ROR #<sh>} Rd[31:0] := Rn[31:0] + SignExtend((Rm ROR (8 * sh))[15:0]). sh [{I7E 4 0-3.
e, B ELS, Ik 6 |SXTAB16 Rd, Rn, Rm{, ROR #<sh>} |Rd[31:16]:=Rn[31:16] + SignExtend((Rm ROR (8 * sh))[23:16]),
hnsE Rd[15:0] := Rn[15:0] + SignExtend((Rm ROR (8 * sh))[7:0]). sh {7 [ % 0-3.
FATR, vk 6 | SXTAB Rd, Rn, Rm{, ROR #<sh>} Rd[31:0] := Rn[31:0] + SignExtend((Rm ROR (8 * sh))[7:0]). sh [¥J3E [} 0-3.
IS P E T, ik 6 |UXTAH Rd, Rn, Rm{, ROR #<sh>} Rd[31:0] := Rn[31:0] + ZeroExtend((Rm ROR (8 * sh))[15:0]). sh {5t [N 0-3,
TR, PSR, i 6 |UXTAB16 Rd, Rn, Rm{, ROR #<sh>} Rd[31:16] := Rn[31:16] + ZeroExtend((Rm ROR (8 * sh))[23:16]),
sk Rd[15:0] := Rn[15:0] + ZeroExtend((Rm ROR (8 * sh))[7:0]). sh [{J55 [ 0-3.
TR, Ik 6 |UXTAB Rd, Rn, Rm{, ROR #<sh>} Rd[31:0] := Rn[31:0] + ZeroExtend((Rm ROR (8 * sh))[7:01). sh {174 0-3.
R¥ AL T2 |RBIT Rd, Rm For (i = 0; i < 32; i++) : Rd[i] = Rm[31-1]
T 6 |REV Rd, Rm Rd[31:24] := Rm[7:0], Rd[23:16] := Rm[15:8], Rd[15:8] := Rm[23:16], Rd[7:0] := Rm[31:24] N
(R R ) 6 |REV16 Rd, Rm Rd[15:8] := Rm[7:0], Rd[7:0] := Rm[15:8], Rd[31:24] := Rm([23:16], Rd[23:16] := Rm[31:24] N
LT AT, ey R 6 |REVSH Rd, Rm Rd[15:8] := Rm[7:0], RA[7:0] := Rm[15:8], Rd[31:16] := Rm[7] * &FFFF N
%E PP 6 |[SEL Rd, Rn, Rm % GE[0] = 1, M Rd[7:0] := Rn[7:0], 75 Rd[7:0] := Rm[7:0]
GE[1]. GE[2]. GE[3] 4 [15:8]. [23:16]. [31:24] E/JJ_KTA:‘? GE[0] #1EL
S ZAP0 e T2 |IT{pattern} {cond} mﬁT/IE;AJgﬁkE%A}@w LU SR A AU B — A PR, B AT R I ERHER ) | T U
IT Z G544/ il 4 AF cond. WAL T BEA T, 0 J5 8:48 4 W 46 conds 01 LA R 1) - B
h E, %1% cond F R I
A K] PH%W&E%E/MH @ i 2Iﬂf€§ﬁ=$§i
F23 B B <label> PC := label label Jjtt1§4 +32MB (T2: £16MB, T: -252 - +256B) N.B
B (1 Bk BL <Tabel> LR := F—$§4 ffHuhl, PC := label. label Jy It 4 +32MB (T2: +16MB).
Bk AT 4T |BX Rm PC:=Rm. W Rm[0] 4 1, H4KN Thumb; 1% Rm[0] Jy 0, HARN N ARM. N
HREBERAS L (1) 5T |BLX <label> F—454 ikl PC := label, T if54-4E. C
Iabel JytHR4 £32MB (T2: £16MB).
RIS (2) 5 |BLX Rm LR := F—f54 sl PC:=Rm[31:1]. WI% Rm[0] J 1, He%h Thumb; 1% Rm[0] Jy 0, W/ 4 ARM. N
BRIl Jazelle ARZS 5] BXJ Rm WA, Bk Tazelle
Lo, Wy () %, ke | T2 | CB{N}Z Rn,<label> W Rn {== 5% =} 0, W] PC :=label. label & (JHFE4 +4-130) . N\UT‘
P ] T2 |TBB [Rn, Rm] PC = PC + ZeroExtend( Memory( Rn + Rm, 1) << 1), BkE{EH K 4-512. Rn ] 4 PC. T.U
Fei e T2 |TBH [Rn, Rm, LSL #1] PC = PC + ZeroExtend( Memory( Rn + Rm << 1, 2) << 1). k&35 % 4-131072. Rn 7% PC. T.U
#3 PSR PSR 3| %5 {748 MRS Rd, <PSR> Rd :=PSR
UM PSR | ox o irin 51 APSR Rid MSR APSR_<flags>, Rm APSR_<flags> := Rm
B 7 BPEokR e #) APSR Aric MSR APSR_<flags>, #<imm8m> APSR_<flags> := immed_8r
A7 4 F PSR MSR <PSR>_<fields>, Rm PSR :=Rm (fUE#FT)
7 B #%1) PSR MSR <PSR>_<fields>, #<imm8m> PSR := immed_8r ({iEFE747)
s L] AL AR A 6 |CPSID <iflags> {, #<p_mode>} ARG E R RIBT, AT e U.N
R 6 |CPSIE <iflags> {, #<p_mode>} JEd PR S TR, S A U.N
LS A b 3 B A 6 CPS #<p_mode> U
BE bR 6 SETEND <endianness> N A E S bR G . <endianness> WA BE CKHi) BY LE (/M) U. N




ARM #1 Thumb-2 $£%

RiESEF
g B A ERR § CYmag %4 <op> % LDR FHAfTHIRIE Y <op> 4 STR FHHUTANEIE ;]
nE B <op>{size}{T} Rd, [Rn {, #<offset>}]{!} Rd := [address, size] [address, size] := Rd 1.N
ﬁﬁﬁ JaAs bk, 7RI <op>{size}{T} Rd, [Rn], #<offset> Rd := [address, size] [address, size] := Rd 2
;;:;ﬁ HLEA R <op>{size} Rd, [Rn, +/-Rm {, <opsh>}]{!} Rd := [address, size] [address, size] := Rd 3. N
JEAshE, AR <op>{size}{T} Rd, [Rn], +/-Rm {, <opsh>} Rd := [address, size] [address, size] := Rd 4
PC X <op>{size} Rd, <label> Rd := [label, size] Rl H 5.N
liE R HEm R 5E |<op>D Rdl, Rd2, [Rn {, #<offset>}]{!} Rdl1 := [address], Rd2 := [address + 4] [address] := Rd1, [address + 4] := Rd2 6. 9
nF JaAEhE, L RI%L 5E |<op>D Rd1l, Rd2, [Rn], #<offset> Rdl := [address], Rd2 := [address + 4] [address] := Rd1, [address + 4] := Rd2 6+ 9
AT RS 5E |<op>D Rd1l, Rd2, [Rn, +/-Rm {, <opsh>}1{!} Rdl := [address], Rd2 := [address + 4] [address] := Rd1, [address + 4] := Rd2 7. 9
JEARHE, A AR 5E |<op>D Rd1l, Rd2, [Rn], +/-Rm {, <opsh>} Rdl := [address], Rd2 := [address + 4] [address] := Rd1, [address + 4] := Rd2 7.9
PC A%} 111 5E |<op>D Rd1l, Rd2, <label> Rdl := [label], Rd2 := [label + 4] AT 8. 9
MEHENES §(PLD) | §(PLI) | §(PLDW) |:[4%ig% E 1’<Eop> % PLD FHUITE) | & <op> 4 PLI FUTHOIRE % <op> 4 PLDW RHATEYIRME | 18R
B SE 7 TMP | <op> [Rn {, #<offset>}] Fi# [address, 32] (H#) | 7%k [address, 32] (354 Ti# LS N [address, 32] CHidi) 1.C
AT AL 5E 7 TMP | <op> [Rn, +/-Rm {, <opsh>}] Tii#k [address, 32] (i) | #i# [address, 32] (464 T LA N [address, 32] CEdf ) 3.C
PC AR 5E 7 <op> <label> Ti#k, [label, 32] (K4 Ti# Nabel, 32] ($54) 5.C
Hi NFFIR{E § |iCthss BRME L]
piliE-£ 20 K Hena LDM{IA|IB|DA|DB} Rn{!}, <reglist-PC> M\ [Rn] DN A785 514 N. I
R[] R LDM{IA|IB|DA|DB} Rn{!}, <reglist+PC> INE 25174, PC := [address][31:1] (§ 5T 4 [address][0] 4 1 i, iy Thumb) 1
H %2 CPSR LDM{IA|IB|DA|DB} Rn{!}, <reglist+PC>A I A Ar ey, Yok (§5T JFAIHD , CPSR := SPSR. X PRI HAH A I
FH P P A 2 LDM{IA|IB|DA|DB} Rn, <reglist-PC>A N [Rn] B S A 2813 . AR BUBE S 1
W POP <reglist> LDM SP!, <reglist> HIFIuHS N
piliE-3 fF5EH 6 |LDREX Rd, [Rn] Rd :=[Rn], J%immamﬁ: Ao IR S ek, )k S R AR
ELd Rd. Rn ANi] %y P
gl 6K | LDREX{H|B} Rd, [Rn] Rd[15:0] := [Rn] 5% Rd[7:0] := [Rn], K Hbhbbsic Al b i) o
WA S L, 0456 SR FRC . Rd. Rn AT Jy PC.
X 6K |LDREXD Rdl, Rd2, [Rn] Rdl :=[Rn], Rd2 := [Rn+4], FHuhbbRic b3 5 1 ) 9
IARASEILEEHRE, W5 SR bR id B . RdlL Rd2. Rn A1 PCo
HFEz4 N BB L HodH 17 fi STM{IA|IB|DA|DB} Rn{!}, <reglist> AT R AL F] [Rn] P N. T
H R %7 A STM{IA|IB|DA|DB} Rn{!}, <reglist>A B AR RS R A EY [R] P A BRARAUE . I
A PUSH <reglist> STMDB SP!, <reglist> IMTEME N
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